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MFHAR. BiE T a2z,

AT H NN SEBRHE A% BG5S Y 2R RN — R AK PR BEHE S A A 3 iR
AEENHESE (S E2EN AR, KVEEHES @R LIS R 500 e /K Ve B HE
S EHE Y 0.1089t, 1#ELZENLHFS A BRI IR E N 7.25mg/m3sLPRIZ T
37h 280 B NS G R M S N 8.65mg/mesEPRiz 4T 15h. 3t HIHES

T R T YR FE N 8.46 mg/m3sEFRiz 4T 11h.

THERIAS, B H Rk ) sERR AR CE N -
M KV BEHER T CFiki4) =0.1089/0.65= 0.1675t

M1 BEHLHERL T CBIRIY) =7.25 X 24069 X 37 X 10°/0.65= 0.0099t
M2#EL B HLHERR T CBIRIY) =8.65 X 24696 X 15 X 10°/0.65= 0.0049t
M3#ELEHLHERR T CBRIY)) = 8.46 X 24102 X 11 X 10°/0.65= 0.0035t

M 7KJE EE+M A3 H1=0.1675+0.0099+0.0049+ 0.0035+0=0.1859
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AT H NN SEBRHE A% BG5S Y 2R RN — R AK PR BEHE S A A 3 iR
AEENHESE (WS E2EN AR, KVEEHES B LIS R 500 e K Ve B HE
SEHEY 0.0832t, 1#EIENLHFS BRI IR E RN 7.25mg/m3sLPRIZ T
35h 280 B NS G R U S N 8.65mg/meSLPRiz 4T 14h. 3#ELBEHIHES

T R )T ¥ MR FE N 8.46 mg/m3sEFRiz 4T 16h.

TERAS, )\ H ok ) sE bR AR E A -
M KV EEHER O CBiRiY)) =0.0832/0.65= 0.128t

M1#ELEHLHERL T CBIRIY) =7.25 X 24069 X 35 X 10°/0.65= 0.0094t
M2#EL B HLHERL T CBIRIY) =8.65 X 24696 X 14 X 107°/0.65= 0.0046t
M3#ELEHLHERR T CBRiY)) = 8.46 X 24102 X 16 X 10°/0.65= 0.005t

M 7KJE EE+M A2 H1=0.128+0.0094+0.0046+ 0.005+0=0.147



IR CRRIR) A IR 2N 5] U A5 SR

RS
7K Ue TNV HETG By — A SR A S B R A ST E AL (8) -

Mopgn = 2, Ciy x @y x T, x10°/ B (8)
i=]
b €, —8 i KITRUE AR SR 5 R K 14) 35 ) KR
AR ISR, mg/m?;
Qi3 i Fys SR § KB B ERERE FFHAUR, mi/hs
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HL0.65.

SR G 3L ﬁL?J}':%Al»J HFISCE A R S BOA 075 e P 1 SR BE Bk
MFHAR. BiE T a2z,

AT H NN SEBRHE A% BG5S Y 2R RN — R AK PR BEHE S A A 3 iR
AEENHESE (S E2EN AR, KVEEHES @R LIS R 500 e /K Ve B HE
S EHE Y 0.1089t, 1#ELZENLHFS BRI IR E RN 7.25mg/m3sLPRIZAT
36h 28 BN S G BRI S N 8.65mg/meSLPRriz4T 14h. 3#ELEHIHES

T R T 2R FE N 8.46 mg/m3sE PRz 4T 15h.

TERIAS,  JUH ki ) SEBR AR E N -
M KR BEHER T CFRiY) =0.0623/0.65= 0.0958t

M1 HLHERL T CBRIY) =7.25 X 24069 X 36 X 10°/0.65= 0.0097t
M2#EL B HLHERL T CBIRIY) =8.65 X 24696 X 14 X 107°/0.65= 0.0046t
M3#ELEHLHERR T CBRIY)) = 8.46 X 24102 X 15 X 10°/0.65= 0.0047t

M 7KJEEE+M L2 H1=0.0958+0.0097+0.0046+ 0.0047+0=0.1148



